## ADAMS COUNTY, COLORADO AMENDMENT ONE FOR CATERING SERVICES FOR THE EMPLOYEE RECOGNITION LUNCHEON

## RECITALS

WHEREAS, on March 24, 2016, the County entered into a Professional/Purchase of Service Agreement 2015 526 with Contractor; and,

WHEREAS, the County and the Contractor mutually desire to amend the Service Agreement to renew the agreement.

NOW, THEREFORE, for the consideration set forth herein, the sufficiency of which is mutually acknowledged by the parties, the County and the Contractor agree as follows:

- 1. The Service Agreement is hereby amended to renew the Agreement for one additional year.
- 2. The fee schedule shall be \$17,181.13.
- 3. The Service Agreement and this Amendment One contain the entire understanding of the parties hereto and neither it, nor the rights and obligations hereunder, may be changed, modified, or waived except by an instrument in writing that is signed by both parties. Except as amended by this Amendment, and any prior amendment(s), the terms and conditions of the Agreement remain in full force and effect. In the event of any conflicts between the terms, conditions, or provisions of the Service Agreement and this Amendment One, the terms, conditions, and provisions of this Amendment One shall control.
- 4. The Recitals contained in this Amendment One are incorporated into the body hereof and accurately reflect the intent and agreement of the parties.
- This Amendment One may be executed in multiple counterparts, each of which shall be deemed to be an original and all of which taken together shall constitute one and the same agreement.
- 6. Nothing expressed or implied in this Amendment One is intended or shall be construed to confer upon or to give to, any person other than the parties, any right, remedy, or claim under or by reason of this Amendment One or any terms, conditions, or provisions

hereof. All terms, conditions, and provisions in this Amendment One by and on behalf of the County and the Contractor shall be for the sole and exclusive benefit of the County and the Contractor.

- 7. If any provision of this Amendment One is determined to be unenforceable or invalid for any reason, the remainder of the Amendment One shall remain in effect, unless otherwise terminated in accordance with the terms contained in the Service Agreement.
- 8. Each party represents and warrants that it has the power and ability to enter into this Amendment One, to grant the rights granted herein, and to perform the duties and

## obligations herein described.

IN WITNESS WHEREOF, the County and the Contractor have caused their names to be affixed.

ADAMS COUNTY, COLORADO INTERIM DEPUTY COUNTY MANAGER

Dog	0	<u>.</u>	
Bryan Ostler	- Control - Cont		

CONTRACTOR

ATTEST: STAN MARTIN CLERK AND RECORDER

Deputy Clerk

APPROVED AS TO FORM:

**County Attorney** 

DOC #5239424 Revised 1/4/17

2017.002 Nova Catering

8301 Rosemary Street Commerce City, CO 80022 Novadenver.com



ADDRESS
Adams County

<b>ВНЮ ТО</b>	
Adams County	
Shelley Lubick	
720-523-6072	
Waymire Dome	
9755 Henderson Rd, Brighton, CO	
80601s County	

ESTIMATE#	DATE	
1040	02/23/2017	

EVENT DATE 02/23/2017

#OF GUESTS 420

LEAVE KITCHEN TBD

SERVICE	ACTIVITY	QTY	RATE	AMOUNT
Start Time	TBD	1	0.00	0,00
Leave Kitchen	TBD	Ţ	0.00	0.00
Set Time	11:00 AM	1	0.00	0.00
Pick Up	REAL: Staff to Return with Equipment		0,00	0.00
Bread and Butter	House-made Bread and Butter	420	0.00	0.00
S-House Salad	Field greens and crisp romaine loaded with crisp seasonal vegetables, cucumber, ripe tomatoes and garlic Parmesan croutons	420	1.75	735.00
Custom	Chicken Entree	200	10.00	2,000.00
Custom	Beef Entree	200	11.00	2,200.00
E-Ratatouille	Squash, zucchini, tomato, eggplant, omon, artichokes, and cauliflower baked in a savory tomato sauce. Fimished with reggiano and served with fresh herb polenta cakes and creme fraiche. GLUTEN FREE	20	10.00	200.00
Custom	Seasonal Mixed Vegetable Array	400	0.00	0.00
Custom	Potatoes Du Jour	400	00.0	0.00
Custom	Assorted Desserts	420	1.95	819.00
Bev-Coffee-Regular- Real	Gourmet Roasted Coffee	175	1.25	218.75
Bev-Coffee-Decaf- Real	Gourmet Roasted Decaf Coffee	50	1.25	62.50
Bev-Iced Tea-Real	Bulk Iced Tea, Lemons, Cups, Sweetener, and Stirrers	420	1.25	525,00
Rentals	120" Black Round Table Linens	42	15.00	630,00
Rentals	Gold Napkins	237	0.60	142.20
Rentals	Pewter Napkins	238	0.60	142,80
Rentals	84" Black Square Linens (Trash Can Wraps)	4	10,00	40,00

SERVICE	ACTIVITY	QTY	RATE	AMOUNT
Rentals	90x132" Black Table Drapes	8	20.00	160.00
Rentals	10oz Water Goblets	850	0.55	467.50
Rentals	Clear Continental Coffee Mugs	200	0.55	110.00
Rentals	Dinner Fork	430	0.60	258.00
Rentals	Dinner Knife	430	0.60	258.00
Rentals	Salad Fork	430	0.60	258.00
Rentals	11" White Dessert Platter	85	0.85	72,25
Rentals	10" Dinner Plate	430	0.60	258.00
Rentals	8" Salad Plate	430	0.55	236,50
Rentals	6" B&B Plate	430	0.55	236.50
Rentals	110 Cup Regal Coffee Maker	3	34.00	102.00
Rentals	Oval Waiter Tray	12	7.00	84.00
Rentals	Waiter Tray Stand	4.	7,00	28.00
Rentals	Water Pitchers	40	3,00	120.00
Staffing	Staffing for Wednesday Set Up, Prior to Event	24	25,00	600.00
Staffing	Dining Room and Kitchen Staff billed hourly, portal to portal, with a four hour minimum. Billing is subject to change based on service hours provided beyond the 4 hour minimum.	180	25.00	4,500.00
Delivery and pick up	Delivery to location, set up of catering and service ware and return for pick up of service ware	<u>,                                    </u>	75.00	75.00
Rentals	Rental Company Delivery, Damage Waiver, Fees	1	425,28	425.28
Gratuity 18%	*** Standard Gratuity - 18% added on all food and beverage orders exceeding \$500. Thank You!!!***	1	1,216.85	1,216.85

Please look over this estimate and let us know if we can make any changes for you.

TOTAL

\$17,181.13

Thank you for your business!!!

Accepted By

Accepted Date